NEW TO RANGE

2023-10 (BY PRODUCT GROUP)

A001.Tie Rod End

A001.Rotbaslari (0010)
A001.HaKOHEYHUKN DVNEBO TATU

Rotule de direction
EXTREMO DE DIRECCION

BOTH SIDES
o 1102040 TIE ROD END.
F rotbasi, 6n sag-sol
420419811A HaKOHEYHUK pPyNeBoit TAru
Rétula barra de acoplamiento
Rotule de direction
AUDI R8 01/07 - 01/15
1102041 TIE ROD END LH
rotbasi, 6n sol
450423811B HaKOHEYHWK Py/NeBO TATU PAIR:1102042
N Rétula barra de acoplamiento
Rotule de direction
AUDI R8 (453,4SP) 07/15-
1102042 TIE ROD END RH
rotbasi, 6n sag
: 450423812B HaKOHEYHWK Py/IeBO TATU PAIR:1102041
M Rétula barra de acoplamiento
Rotule de direction
AUDI R8 (453,4SP) 07/15-
1501065 TIE ROD END RH
rotbasi, 6n sag M22x1,5; 4WD, MOOG TYPE
E3TZ3A131C HAKOHEYHUK pyneBoi TAru PAIR:1501066

L

Rétula barra de acoplamiento
Rotule de direction

FORD EXPLORER (UN46) 01/90 - 12/94 FORD RANGER | USA 08/93-03/97
1501066 TIE ROD END LH
rotbasi, 6n sol M22x1,5; 4WD, MOOG TYPE
E3TZ3A131D HaKOHEYHWK pPyNeBO TArn PAIR:1501065

r

Rétula barra de acoplamiento
Rotule de direction

FORD EXPLORER (UN46) 01/90-12/94 FORD RANGER | USA 08/93-03/97
® 1501067 TIE ROD END R
S rotbasi, 6n sag, dis M22x1,5; OE DESIGN, TO 4WD/2WD
FOTZ3A131A HaKOHEYHUK pPyneBoit TArn PAIR:1501068
Rétula barra de acoplamiento
Rotule de direction
FORD BRONCO 08/80-09/96 FORD EXPLORER (UN46) 01/90 - 12/94
FORD F-150 01/80-12/96 FORD F-250 01/87 - 12/98
FORD F-350 08/80-09/97 FORD RANGER | USA 08/93-03/97
1501068 TIE ROD END LH
rotbasi, 8n sol, dis M22x1,5; OE DESIGN, TO 4WD/2WD
FOTZ3A131B HaKOHEYHUK Py/NIeBO TArK PAIR:1501067

rﬁ

Rétula barra de acoplamiento
Rotule de direction

FORD BRONCO 08/80-09/96 FORD EXPLORER (UN46) 01/90 - 12/94
FORD F-150 01/80-12/96 FORD F-250 01/87 -12/98
FORD F-350 08/80-09/97 FORD RANGER | USA 08/93-03/97
1501069 TIE ROD END BOTH SIDES
rotbasi, 6n sag-sol
HC3Z3A131C HaKOHEYHUK pPyNeBoi TArn

2023-10 (BY PRODUCT GROUP)

Rétula barra de acoplamiento
Rotule de direction

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

1of18



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

= 150211 TIE ROD END LH
3 50 8 rotbasl, 6n sol M16x1,5
. 2500067 HAKOHEYHUK pyneBoi TAru PAIR:1502119
LX6C3290AB Rétula barra de acoplamiento
Rotule de direction
FORD KUGA 11l 01/20-
3 1502119 TIE ROD END RH
‘g rotbasl, 6n sag M16x1,5
= 2500065 HaKOHEUYHUK pyneBoii TArmn PAIR:1502118
LX6C3289AB Rétula barra de acoplamiento
Rotule de direction
FORD KUGA 11l 01/20-
1502121 TIE ROD END LH
rotbasi, 6n sol M14x1,5
KB3Z3A130D HAKOHEYHUK pyneBoi TAru PAIR:1502122

\

FORD RANGER

01/19-11/21

Rétula barra de acoplamiento
Rotule de direction

1502122

KB3Z3A130B

TIE ROD END

rotbasl, 6n sag

HaKOHEUYHUK pyneBow TArm
Rétula barra de acoplamiento
Rotule de direction

RH
M14x1,5

PAIR:1502121

FORD RANGER 01/19-11/21
a 1502123 TIE ROD END LH
rotbasi, 6n sol
L1MC3290BB HaKOHEYHWK pPy/NeBO TATU PAIR:1502124
Rétula barra de acoplamiento
Rotule de direction
FORD EXPLORER 01/20 -
P 1502124 TIE ROD END RH
rotbasl, 6n sag
L1MC3289BB HAKOHEYHUK pyneBoi TAru PAIR:1502123
Rétula barra de acoplamiento
Rotule de direction
FORD EXPLORER 01/20 -
®. 2201017 TIE ROD END BOTH SIDES
rotbasi, 6n sag-sol M12x1,25
485206512R HaKOHEUYHUK pyneBoii TArmn
Rétula barra de acoplamiento
Rotule de direction
RENAULT KWID 01/17-
2902047 TIE ROD END FRONT; LH

3QF 423 811 A
3QF423811B
3QF 423811 C

rotbasl, sol, 6n
HaKOHEUYHUK PYNeBoit Tarm

Rétula barra de acoplamiento
Rotule de direction

PAIR: 2202048

VOLKSWAGEN ATLAS 05/17-
2902048 TIE ROD END FRONT; RH
rotbasl, sag, 6n M16x1,5
3QF423812A HaKOHEYHWK pPy/NeBoi TArn PAIR: 2202047
. [ 3QF4238128 Rétula barra de acoplamiento
3QF4z3812C Rotule de direction
VOLKSWAGEN ATLAS 05/17-
LH
= 3602100 TIEROD END
rotbasi, 6n sol
53560TVAA03 HAKOHEYHUK pyNeBoi TAru PAIR:3602101
Rétula barra de acoplamiento
Rotule de direction
HONDA ACCORD X 01/14-

2023-10 (BY PRODUCT GROUP)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

20f18



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

3602101
i 53540TVAAO3

TIE ROD END
rotbasi, 6n sag
HaKOHEUYHUK PYNeBoit Taru

Rétula barra de acoplamiento
Rotule de direction

RH

PAIR:3602100

HONDA ACCORD X 01/14-
3802064 TIE ROD END LH
rotbasl, 6n sol
BDTS32290 HAKOHEUYHUK py/NeBoW TArU PAIR:3802065
Rétula barra de acoplamiento
Rotule de direction
MAZDA 3 01/19 -
3802065 TIE ROD END RH
rotbasi, 6n sag
BDTS32280 HAKOHEYHUK pyneBoi TAru PAIR:3802064
Rétula barra de acoplamiento
Rotule de direction
MAZDA 3 01/19 -
B 4902064 TIE ROD END LH
5 rotbasl, 6n sol
56820C1700 HaKOHEYHWK Py/NIeBOM TArn PAIR:4902065
Rétula barra de acoplamiento
Rotule de direction
KIA SORENTO Il (UM) 01/15-
3 4902065 TIE ROD END RH
T, rotbasli, 6n sag
56825C1790 HaKOHEYHWK pPy/NeBO TATU PAIR:4902064
Rétula barra de acoplamiento
Rotule de direction
KIA SORENTO Il (UM) 01/15-
?_ 5602093 TIE ROD END BOTH SIDES
) | rotbasi, 6n sag-sol M14x1,5
22966605 HAKOHEYHUK pyneBoi TAru
* 84670799 Rétula barra de acoplamiento
Rotule de direction
CHEVROLET CANYON 2nd Generation 08/12- CHEVROLET COLORADO Extended cab Pic 09/11-
fisY 6102031 TIE ROD END LH
T rotbasl, 6n sol
Il 68319182AA HAKOHEUYHUK py/NeBoW TArU PAIR:6102032
k 68319182AB Rétula barra de acoplamiento
Rotule de direction
JEEP CHEROKEE 02/19-12/21
s 6102032 TIE ROD END RH
w rotbasi, 6n sag
It 68319183AA HAKOHEYHUK pyNeBoi TAru PAIR:6102031
d 68319183AB Rétula barra de acoplamiento
Rotule de direction
JEEP CHEROKEE 02/19-12/21
6702010 TIE ROD END LH
rotbasi, 6n sol
53560TJBAO1 HaKOHEYHWK pPy/NeBoi TArn PAIR:6702011
Rétula barra de acoplamiento
Rotule de direction
ACURA RDX (TC1) 06/18-
6702011 TIE ROD END RH
rotbasi, 6n sag
53540TJBAO1 HAKOHEYHUK pyNeBoi TAru PAIR:6702010
Rétula barra de acoplamiento
Rotule de direction
ACURA RDX (TC1) 06/18-

2023-10 (BY PRODUCT GROUP)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

30f18



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

A002.Ball ioints

A002.Rotiller (0030)
A002.LLlanoBble ononbi

Rotule de suspbension

s
L’\?W

ROTULA
- 11 BALL JOINT BOTH SIDES
r 03006 rotil, 6n sag-sol, alt FRONT LOWER
4S0407152E waposas onopa
Rétula de suspension/carga
Rotule de suspension
AUDI R8 (453,4SP) 07/15-
1103007 BALL JOINT BOTH SIDES
rotil, 6n sag-sol, alt FRONT LOWER
420407151K wapoBas onopa
Rétula de suspension/carga
- Rotule de suspension
AUDI R8 01/07 - 01/15
1103008 BALL JOINT BOTH SIDES
rotil, arka sag-sol, alt REAR LOWER
4E0501529C S1 wapoBas onopa FOR 1105109
4E0501529D S2 Rétula de suspension/carga
4E05015296 52 Rotule de suspension
VOLKSWAGEN PHAETON 04/02 -
-, BALL JOINT BOTH SIDES
= 1503066 rotil, arka sag-sol, tst REAR UPPER
9L875500B waposas onopa
' YL8Z5500AA S1 Rétula de suspension/carga
J
— YL8Z5500A8 51 Rotule de suspension
FORD ESCAPE (USA) 08/07-08/12 FORD MARINER 1st Generation 08/05-09/11
’ 1503067 BALL JOINT BOTH SIDES
= rotil, 6n sag-sol FRONT
2422614 waposas onopa
y / 2422615 Rétula de suspension/carga
= L1TC3051A8 Rotule de suspension
FORD PUMA 09/19-
= 1503068 BALL JOINT BOTH SIDES
rotil, 6n sag-sol, alt FRONT LOWER
LB5C3K185AC waposas onopa
Rétula de suspension/carga
- Rotule de suspension
FORD EXPLORER 01/20 -
P 1503069 BALL JOINT BOTH SIDES
;b rotil, 6n sag-sol, alt FRONT LOWER
L1TC3042AB waposas onopa
N Rétula de suspension/carga
- Rotule de suspension
FORD 09/19-
2904049 BALL JOINT LH
rotil, &n sol, alt FRONT LOWER
5R3407365 waposas onopa PAIR:2904050
Rétula de suspension/carga
Rotule de suspension
VOLKSWAGEN CADDY V 09/20-
2904050 BALL JOINT RH
rotil, 6n sag, alt FRONT LOWER
5R3407366 waposas onopa PAIR:2904049
Rétula de suspension/carga
Rotule de suspension
VOLKSWAGEN CADDY V 09/20-

2023-10 (BY PRODUCT GROUP)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

40f 18



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

3604017 BALL JOINT BOTH SIDES
rotil, 6n sag-sol, alt Cone :15,2-19 mm
51220TLAA51 waposas onopa short bolt
51220TVAAO1L Rétula de suspension/carga
Rotule de suspension
ACURA RDX (TC1) 06/18- HONDA ACCORD 01/18-
HONDA CR-V V (RW, RT) 01/17-
4104041 BALL JOINT BOTH SIDES
rotil, 6n sag-sol, alt FRONT LOWER
401600B000 wapoBas onopa
F3XY3050A Rétula de suspension/carga
Rotule de suspension
MERCURY VILLAGER 01/93 -01/02 NISSAN QUEST 08/93-09/03
4203026 BALL JOINT BOTH SIDES
rotil, 6n sag-sol, alt FRONT LOWER
4320159045 waposasn onopa
Q 4320259075 Rétula de suspension/carga
~ Rotule de suspension
LEXUS LS (F4) 460 08/06-
ﬁ 4204099 BALL JOINT BOTH SIDES
rotil, 6n sag-sol, alt FRONT LOWER
4333009A90 waposasn onopa
4333049235 Rétula de suspension/carga
Rotule de suspension
TOYOTA RAV 4 01/19-
5603048 BALL JOINT BOTH SIDES
rotil, 6n sag-sol, alt FRONT LOWER
20959403 wapoBas onopa
23113204 Rétula de suspension/carga
- 84506878 Rotule de suspension
CHEVROLET CORVETTE 08/14-
6003052 BALL JOINT BOTH SIDES
rotil, 6n sag-sol, alt FRONT LOWER
19329437 waposasn onopa
Rétula de suspension/carga
Rotule de suspension
CADILLAC CTS 08/08-08/13

A003.Track control arms

A003.Rotilli Kollar (0045+)
A003.Pbluaru nepenHeit NnoaBeCcKu

Triangle de suspension
BRAZO DE SUSPENSION

1009031 STRUT CONTROL ARM BOTH SIDES,REAR
v f._j‘ Y : denge kolu, arka sag-sol
v@ 50541788 pbiuar
50543275 Barra oscilante, suspensién de ruedas
Triangle de suspension
ALFA ROMEO GIULIA (952) 10/15- ALFA ROMEO STELVIO (949) 12/16-
1509322 TRACK CONTROL ARM REAR,RH
& denge kolu, arka sag, Ust
~ YL8Z5500AA pbiuar PAIR:1509323

Barra oscilante, suspensién de ruedas
Triangle de suspension

FORD ESCAPE (USA) 08/07-08/12 FORD MARINER 1st Generation ~ 08/05-09/11
1509323 TRACK CONTROL ARM REAR,LH

. denge kolu, arka sol, Ust

_ YL8Z5500AB pbiyar PAIR:1509322

FORD ESCAPE (USA)

2023-10 (BY PRODUCT GROUP)

08/07-08/12

Barra oscilante, suspension de ruedas
Triangle de suspension

FORD MARINER 1st Generation

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

08/05-09/11

50f 18



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

|

1509324

9L8Z5500A

TRACK CONTROL ARM
denge kolu, arka sag, tst
pblyar

Barra oscilante, suspension de ruedas
Triangle de suspension

REAR,RH

PAIR:1509325

FORD ESCAPE (USA) 08/07-08/12 FORD MARINER 1st Generation 08/05-09/11
1509325 TRACK CONTROL ARM REAR,LH

N denge kolu, arka sol, st

~ 918255008 pbiyar PAIR:1509324

Barra oscilante, suspension de ruedas
Triangle de suspension

FORD ESCAPE (USA) 08/07-08/12 FORD MARINER 1st Generation 08/05-09/11
1509326 TRACK CONTROL ARM BOTH SIDES,REAR
denge kolu, arka sag-sol 1.5L Petrol, 2.0L Diesel, Estate, Multilink
2274948 pbiyar
JX615K652BEB Barra oscilante, suspension de ruedas
Triangle de suspension
FORD FOCUS IV (HN) 08/18- FORD FOCUS IV (CGE) 10/18-
FORD FOCUS IV (HM) 11/18-
1509329 TRACK CONTROL ARM BOTH SIDES,REAR
denge kolu, arka sag-sol MULTILINK REAR AXLE
2200522 pbiyar
2281101 Barra oscilante, suspensién de ruedas
IX615K652AEB Triangle de suspension
FORD FOCUS IV (HN) 08/18- FORD FOCUS IV (CGE) 10/18-
FORD FOCUS IV (HM) 11/18-
1509332 TRACK CONTROL ARM BOTH SIDES,REAR
denge kolu, arka sag-sol, alt

Barra oscilante, suspension de ruedas
Triangle de suspension

FORD CROWN VICTORIA 09/97 - 12/12 LINCOLN TOWN CAR I 08/98-07/11
MERCURY GRAND MARQUIS 08/03-09/11
1905166 TRACK CONTROL ARM BOTH SIDES
3 rotilli kol, 6n sag-sol, alt FRONT LOWER
» 6 2183302200 pbiuar
! Barra oscilante, suspensién de ruedas
Triangle de suspension
MERCEDES BENZ CLS (C 218) 01/11-
1905167 TRACK CONTROL ARM LH
- rotilli kol, 6n sol FRONT
F-Og— @ 2043306511 pbiuar PAIR:1905168
r - Barra oscilante, suspension de ruedas
Triangle de suspension
MERCEDES BENZ  SLC (R172) 01/16-
1905168 TRACK CONTROL ARM RH
- rotilli kol, 6n sag FRONT
@ - & 2043306611 pbiuar PAIR:1905167
— E Barra oscilante, suspension de ruedas
Triangle de suspension
MERCEDES BENZ  SLC (R172) 01/16-
3609176 TRACK CONTROL ARM BOTH SIDES,REAR
denge kolu, arka sag-sol
H 52380584A01 pbivar

ACURA
HONDA

CLYA4

2023-10 (BY PRODUCT GROUP)

ACCORD VI (CK, CG,CH,CF)

08/01-08/03
03/97 - 11/03

Barra oscilante, suspensién de ruedas
Triangle de suspension

ACURA TL UA4-UAS (2nd Gen.)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

08/99-08/03

60of 18



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

3709 147 STRUT CONTROL ARM BOTH SIDES,REAR
denge kolu, arka sag-sol, alt
552502W000 pblyar
Barra oscilante, suspension de ruedas
Triangle de suspension
HYUNDAI SANTA FE Il (DM) 09/12 - HYUNDAI SANTA FE IV (TM,TMA) 02/18-
3709152 STRUT CONTROL ARM BOTH SIDES,REAR
denge kolu, arka sag-sol, alt
H 5525039600 pbivar PAIR:3709087

Barra oscilante, suspension de ruedas
Triangle de suspension

HYUNDAI SONATA IV 03/98 - 05/05
4205028 TRACK CONTROL ARM LH
rotilli kol, &n sol, alt FRONT LOWER
4867053010 pbiyar PAIR:4205029
Barra oscilante, suspension de ruedas
Triangle de suspension
LEXUS IS (SportCross) 10/01 - 10/05
4205029 TRACK CONTROL ARM RH
rotilli kol, 6n sag, alt FRONT LOWER
4866053010 pbiyar PAIR:4205028
Barra oscilante, suspension de ruedas
Triangle de suspension
LEXUS IS (SportCross) 10/01 - 10/05
= TRACK CONTROL ARM RH
— 2 4605004 rotilli kol, 6n sag, alt FRONT LOWER
{_@ﬂ 99634112190 pblyar PAIR:4605005
! ¥ 5 — Barra oscilante, suspension de ruedas
- Triangle de suspension
PORSCHE 911 (996) 09/97 - 08/05
= TRACK CONTROL ARM LH
R —— 4605005 rotilli kol, 8n sol, alt FRONT LOWER
&O;—_—. g 99634112290 pbluar PAIR:4605004
-~ : ; Barra oscilante, suspensién de ruedas
B Triangle de suspension
PORSCHE 911 (996) 09/97 - 08/05
4805030 TRACK CONTROL ARM LH
rotilli kol, 6n sol, alt FRONT LOWER
C2D23803 pblyar PAIR:4805031
Barra oscilante, suspension de ruedas
Triangle de suspension
JAGUAR XJ (X351) 08/09 -
4805031 TRACK CONTROL ARM RH
rotilli kol, 6n sag, alt FRONT LOWER
C2D23802 pbluar PAIR:4805030
Barra oscilante, suspension de ruedas
Triangle de suspension
JAGUAR XJ (X351) 08/09 -
4909079 STRUT CONTROL ARM BOTH SIDES,REAR
denge kolu, arka sag-sol
552502J000 pblyar
Barra oscilante, suspensién de ruedas
Triangle de suspension
KIA BORREGO 01/08 -
. 6005020 TRACK CONTROL ARM LH
i rotilli kol, 6n sol, alt FRONT LOWER
‘ 20768756 blyar PAIR:6005021
“ 2 : — P
== @® 5500

CADILLAC ATS (SA-1)

2023-10 (BY PRODUCT GROUP)

08/13 - 08/17

Barra oscilante, suspension de ruedas
Triangle de suspension

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

7 of 18



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

| . 6005021
> @

TRACK CONTROL ARM RH
rotilli kol, 6n sag, alt FRONT LOWER
pblyar PAIR:6005020

Barra oscilante, suspension de ruedas
Triangle de suspension

CADILLAC ATS (SA-1) 08/13 - 08/17
6709012 STRUT CONTROL ARM BOTH SIDES,REAR
denge kolu, arka sag-sol, alt
H 5234550XA01 poiyar
Barra oscilante, suspension de ruedas
Triangle de suspension
ACURA MDX 08/01-08/06
6709013 STRUT CONTROL ARM BOTH SIDES,REAR
denge kolu, arka sag-sol, alt
H 52370TZ3A40 pordar
Barra oscilante, suspension de ruedas
Triangle de suspension
ACURA TLX 02/15-

A004.Central rods. tie rods

A004.Borulu Rotlar. Orta Rotlar(0035+)
A004.CoenHue nvnesble TArK

Biellette de direction
EXTREMO DE DIRECCION

1706013
_zd QFK000070 51

LAND ROVER

FREELANDER | 10/97 - 09/06

TIE ROD RH
orta rot, 6n sag

cpegHAA pyneBas Tara PAIR:1706014

Barre de connexion

1706014
k;'_. QFK000080 S1

LAND ROVER FREELANDER | 10/97 - 09/06

TIE ROD LH
orta rot, 6n sol

cpeaHAn pynesas Tara PAIR:1706013

Barre de connexion

A005.Axial ioints

A005.Rotmilleri (0020)
A005.PvneBble Tarn

Rotule de direction intérieure
ARTICULACION AXIAL / AXIAL

1107039 AXIAL JOINT BOTH SIDES
rotmili, 6n sag-sol
wisc— 20 pynesan tara
Articulacidn axial, barra de acoplamiento
Rotule de direction intérieure
AUDI R8 (4S3,4SP) 07/15-
1207056 AXIAL JOINT BOTH SIDES
rotmili, n sag-sol M16x1,5;M16x1,5;L=254 mm
—,.** 32106884809 S1 pyseBas Tara
Articulacion axial, barra de acoplamiento
Rotule de direction intérieure
BMW X5 (GO5 , F95) 08/18- BMW X6 (G06) 01/19-
BMW X7 (G07) 03/19-

2023-10 (BY PRODUCT GROUP)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

80of 18



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

1407051 TIE ROD AXIAL JOINT BOTH SIDES
rotmili, 6n sag-sol M12x1,5;M14x1,5;L=239 mm
‘—- 68105871AB pynesan Tara
68111382AA S1 Articulacién axial, barra de acoplamiento
Rotule de direction intérieure
FIAT 500 (312) 07/07 - FIAT PANDA (312) 02/12 -
LANCIA YPSILON 05/12-
1507112 AXIAL JOINT BOTH SIDES
\ rotmili, 6n sag-sol
mﬁ_ L1MC3280AA pyneBas Tara
Articulacidn axial, barra de acoplamiento
Rotule de direction intérieure
FORD EXPLORER 01/20 -
1507113 AXIAL JOINT BOTH SIDES
rotmili, 6n sag-sol
*Em—— E8BZ3280A pynesas Tara
Articulacion axial, barra de acoplamiento
Rotule de direction intérieure
FORD FESTIVA 09/88 -
1507114 TIE ROD AXIAL JOINT BOTH SIDES
rotmili, 6n sag-sol M14x1,5;M16x1,5;L=202 mm
i".' KB3Z3280A pyneBas Tara USA MARKET
Articulacion axial, barra de acoplamiento
Rotule de direction intérieure
FORD RANGER 01/19-11/21
1507115 TIE ROD AXIAL JOINT BOTH SIDES
rotmili, n sag-sol, ic M14x1,5;M16x1,5;L=300 mm
_— 861232808 pynesas Tara
Articulacidn axial, barra de acoplamiento
Rotule de direction intérieure
FORD FLEX 08/09-09/12 FORD FREESTYLE 08/05-08/07
FORD TAURUS 5th Generation 08/08-08/15
2907131 AXIAL JOINT BOTH SIDES
rotmili, 6n sag-sol M16x1,5;M16x1,5;L=329 mm
:‘;‘“,_ 5WA423810D pynesas tara
Articulacion axial, barra de acoplamiento
Rotule de direction intérieure
VOLKSWAGEN CADDY V 09/20-
3607091 AXIAL JOINT BOTH SIDES
rotmili, 6n sag-sol M14x1,5;M16x1,5;L=209,5 mm
h' ) 53610TVAAll pyneBas Tara SEDAN
Articulacidn axial, barra de acoplamiento
Rotule de direction intérieure
HONDA ACCORD X 01/14-
3707067 AXIAL JOINT BOTH SIDES
rotmili, 6n sag-sol
ﬂi__ 5772658000 pynesas Tara 4x2
Articulacion axial, barra de acoplamiento
Rotule de direction intérieure
HYUNDAI PALISADE (LX2) 12/18-
3707068 AXIAL JOINT BOTH SIDES
room rotmili, 6n sag-sol
T — 72557100 pynesas Tara axa
Articulacion axial, barra de acoplamiento
Rotule de direction intérieure
HYUNDAI PALISADE (LX2) 12/18-
4007011 AXIAL JOINT BOTH SIDES
rotmili, 6n sag-sol
i__,_.__ co—mmms 4551052190 pynesas Tara
4551052191

2023-10 (BY PRODUCT GROUP)

Articulacidn axial, barra de acoplamiento
Rotule de direction intérieure

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

90of 18



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

4107101

D8E21JLO6A

AXIAL JOINT

rotmili, 6n sag-sol

pynesas Tara

Articulacién axial, barra de acoplamiento
Rotule de direction intérieure

BOTH SIDES
M14x1,5;M18x1;L=171 mm

INFINITY G37 08/10-09/12 NISSAN 370z 08/13-
4107102 AXIAL JOINT BOTH SIDES
y rotmili, 6n sag-sol M16x1,5;M24x1,5;L=266 mm
q-__ 48521E7408B pynesas Tara
Articulacidn axial, barra de acoplamiento
Rotule de direction intérieure
NISSAN TITAN (XD, H61) 01/16-
4207133 AXIAL JOINT BOTH SIDES
rotmili, 6n sag-sol M15x1,5;M14x1,5;L=265 mm
4550339085 pyneBas Tara Rwd; Manual Steering, Moog Type

- ——

Articulacidn axial, barra de acoplamiento
Rotule de direction intérieure

TOYOTA TACOMA (N1) 01/95 - 08/04
4207134 AXIAL JOINT BOTH SIDES
rotmili, 6n sag-sol
-'m 4551047050 S1 pynesas Tara
Articulacion axial, barra de acoplamiento
Rotule de direction intérieure
LEXUS CT (ZWA10) 08/10-
6707005 AXIAL JOINT BOTH SIDES
rotmili, 6n sag-sol
H 53610TJBAO1 pynesas Tara
Articulacidn axial, barra de acoplamiento
Rotule de direction intérieure
ACURA RDX (TC1) 06/18-
A055.Axial ioints (complete)
A055.Komple rotmilleri (0025) /_-—ﬁ/—*ﬂ'
A055.Pvnesble Taru B cb6ope —E‘ fﬁaﬁ - e
Biellette de direction. comole B ;
ARTICULACION AXIAL COMPLETA
1277073 AXIAL JOINT COMPLETE LH
& komple rotmili, 6n sol FRONT
= _ 32106884809 nesas TAra B céope PAIR:1277074
s = B P o8
Barra de acoplamiento
Biellette de direction, comple
BMW X5 (GO5, F95) 08/18- BMW X6 (G06) 01/19-
BMW X7 (G07) 03/19-
1277074 AXIAL JOINT COMPLETE RH
$ komple rotmili, 6n sag FRONT
@ —— bﬁ 32106884810 pyneBas Tara B cbope PAIR:1277073
- ) Barra de acoplamiento
Biellette de direction, comple
BMW X5 (GO5 , F95) 08/18- BMW X6 (G06) 01/19-
BMW X7 (G07) 03/19-

2023-10 (BY PRODUCT GROUP)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

100f 18



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

A006.Stabilizer links

A006.Z-rotlar. Denge Rotlari (0060)
A006.CToiiku cTabununsartona

Biellette de barre stabilisatrice
BARRA / ESTABILIZADOR / BIELETA

v e by Og b

= 1208121 STABILIZER LINK REAR
= denge rotu, arka sag-sol
;fﬂ pr 33558090203 cTolKa cTabunusartopa
H Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
BMW X4 (G02, F98) 04/18 -
1408054 STABILIZER LINK REAR
denge rotu, arka sag-sol
500336365 CTOWKa cTabunusaropa
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
IVECO DAILY 11l 05/99 -05/06
1508090 STABILIZER LINK REAR
denge rotu, arka sag-sol Metal;L=120 mm
5282207 CTOWKa cTabunusaropa
5295981 Travesafios/barras, estabilizador
F2GC5CA36A Biellette de barre stabilisatrice
FORD EDGE (CDQ) 01/15- FORD GALAXY 09/15-
FORD MUSTANG (USA) 01/15- FORD S-MAX (WA6) 05/06 -
FORD S-MAX (CJ,WA6) 01/15-
1508148 STABILIZER LINK BOTH SIDES,REAR
denge rotu, arka sag-sol L=145,5 mm
3C7Z5K484EA cTolKa cTabunumsartopa
‘ YC3Z5K484AA Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
FORD EXCURSION 08/00-09/05
o 1508188 STABILIZER LINK FRONT; BOTH SIDES
denge rotu, 6n, sol-sag
2096027 S1 cTolKa ctabunusaropa
¥ 2185084 51 Travesafios/barras, estabilizador
GK215C486BE S1 Biellette de barre stabilisatrice
FORD FOCUS IV (CGE) 10/18-
1508189 STABILIZER LINK FRONT
denge rotu, 6n sag-sol
. JB3Z5K483A cTolKa cTabunusaropa
-_ Travesafios/barras, estabilizador
- Biellette de barre stabilisatrice
FORD RANGER 01/19-11/21
1508190 STABILIZER LINK FRONT
denge rotu, 6n sag-sol
F1TZ5K484A cTolKa ctabunusartopa
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
FORD EXPLORER (UN46) 01/90-12/94
1508191 STABILIZER LINK REAR
@, denge rotu, arka sag-sol L=276 mm
M F77Z5K484HA cToiiKa crabunmsatopa
ZZM128171A Travesafios/barras, estabilizador
F3725K4848 Biellette de barre stabilisatrice
FORD RANGER | 04/97 - 06/06 MAZDA B2300 01/95 - 12/96
MAZDA B3000 01/94 -12/00 MAZDA B4000 01/94 - 12/10
1508192 STABILIZER LINK REAR
!"' denge rotu, arka sag-sol L=202,5 mm
F37Z5K484A cTolKa ctabunusaropa
F77Z5K484GA Travesafios/barras, estabilizador
AL Biellette de barre stabilisatrice
FORD RANGER | 04/97 - 06/06 MAZDA B3000 01/94 - 12/00
MAZDA B4000 01/94 -12/10 MAZDA B SERIES UN 02/99 - 03/05

2023-10 (BY PRODUCT GROUP)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

110f18



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

. 1508193
&  7C375K484EF
K700366
FORD F-450 SUPER DUTY 08/08-11/17

STABILIZER LINK
denge rotu, arka sag-sol
cTolKa cTtabunusartopa

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

FORD F-550 SUPER DUTY

REAR
L=315 mm

08/08-11/18

. 1708025
- ‘1@ LR114304

STABILIZER LINK
denge rotu, arka sol
CTOWKa cTabunusaropa

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

LAND ROVER

REAR,LH
L=159 mm

PAIR:1708026

RANGE ROVER EVOQUE (L55 12/18-

LAND ROVER DISCOVERY SPORT (L550) 01/14-
1708026
- LR114303

LAND ROVER DISCOVERY SPORT (L550) 01/14-

STABILIZER LINK
denge rotu, arka sag
cTolKa ctabunusatopa

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

LAND ROVER

REAR,RH
L=159 mm

PAIR:1708025

RANGE ROVER EVOQUE (L55 12/18-

2108034

r & 9824652580 S1

e

STABILIZER LINK

denge cubugu, 6n, sol-sag
cTolKa cTabunusaropa
Travesafios/barras, estabilizador

Biellette de barre stabilisatrice

FRONT; BOTH SIDES
Metal:L=323 mm

OPEL CORSAF 07/19- PEUGEOT 20811 06/19-
: 2908051 STABILIZER LINK REAR; BOTH SIDES
Ll . denge rotu, arka, sol-sag 12,2x139,5 mm
| — \ 2NO 505 465 A cTolKa cTabunusaropa
—— Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
VOLKSWAGEN CRAFTER (SY,S2) 09/16-
2908053 STABILIZER LINK REAR
.Q' denge rotu, arka sag-sol
5R3505465C cTolKa cTtabunusaropa
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
VOLKSWAGEN CADDY V 09/20-
‘@ 2908054 STABILIZER LINK REAR
denge rotu, arka sag-sol
5R3505465D CTOWKa cTabunusaropa
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
VOLKSWAGEN CADDY V 09/20-
FRONT,RH
i 3708099 STABILIZER LINK ,
denge rotu, 6n sag L=229 mm
54831K7100 cTolKa cTabunusartopa PAIR:3708100
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
HYUNDAI 110 (AC3) 01/19-
FRONT,LH
h, 3708100 STABILIZER LINK ,
denge rotu, 6n sol L=229 mm
54830K7100 cTolKa ctabunusaropa PAIR:3708099
Travesafios/barras, estabilizador
‘ Biellette de barre stabilisatrice
HYUNDAI 110 (AC3) 01/19-
i 3708101 STABILIZER LINK REAR
: denge rotu, arka sag-sol
5553058000 cTolKa cTabunusartopa
b Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
HYUNDAI PALISADE (LX2) 12/18-

2023-10 (BY PRODUCT GROUP)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

12 0f 18



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

- 4108194 STABILIZER LINK REAR,RH
08 9 denge rotu, arka sag L=105 mm
562613JA0C cTolKa cTtabunusartopa PAIR:4108195
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
INFINITY JX 35 08/14- INFINITY Qxeo 08/14-
NISSAN MURANO Il (252) 10/14- NISSAN PATHFINDER ( R52) 08/14-
o 4108195 STABILIZER LINK REAR,LH
denge rotu, arka sol L=105 mm
562613JA0D cTolKa cTtabunusaropa PAIR:4108194
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
INFINITY JX 35 08/14- INFINITY Qxe0 08/14-
NISSAN MURANO Il (252) 10/14- NISSAN PATHFINDER ( R52) 08/14-
@ 4108196 STABILIZER LINK FRONT
L denge rotu, 6n sag-sol
\‘ 546185V000 cTolKa ctabunusaropa
h—‘ Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
NISSAN R'NESSA (N30) 11/97-07/01
4208193 STABILIZER LINK REAR
denge rotu, arka sag-sol
H .’ 4883060040 cToiika crabunusatopa
4883560010 Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
LEXUS GX470 (J120) 08/03-08/10
4208 194 STABILIZER LINK REAR
denge rotu, arka sag-sol L=86 mm
. 488300R030 cTolKa ctabunusaropa
o "/. 4883042030 Travesafios/barras, estabilizador
-
Biellette de barre stabilisatrice
LEXUS ES300 -ES350 01/18- TOYOTA AVALON ( XX50) 01/18-
TOYOTA CAMRY (V7,VA7,VH7) 07/17- TOYOTA RAV 4 01/19-
TOYOTA VENZA ( XU89) 01/20-
5608102 STABILIZER LINK FRONT,LH
denge rotu, 6n sol L=292 mm
42514933 S1 cTolKa cTabunusaropa PAIR:5608103
42704412 Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
CHEVROLET BOLT EV 02/17-
5608103 STABILIZER LINK FRONT,RH
denge rotu, 6n sag L=292 mm
42514934 51 cToiika ctabunusaropa PAIR:5608102
42704413 Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
CHEVROLET BOLT EV 02/17-
6008085 STABILIZER LINK REAR
&, denge rotu, arka sag-sol L=261 mm
I 68235276AA cToiiKa ctabunmsatopa
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
RAM 2500 02/11-12/18
3 6008086 STABILIZER LINK FRONT
( ;” denge rotu, 6n sag-sol
" p— 68399868AC cToiika ctabunusaropa
gﬁ-‘""—"_— 68399868AD Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
RAM 1500 CREW CAB (DT) 12/18-

2023-10 (BY PRODUCT GROUP)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

13 0f 18



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

7108011

102744100A

TESLA MODEL X 08/12 - 08/18

STABILIZER LINK
denge rotu, arka sag-sol
cTolKa cTtabunusartopa

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

REAR
L=85 mm

A007.Wishbones

A007.Salincaklar (0040-0060)
A007.Pbluaru 3aaHeit noaBecku. bvmenaHru

Triangle de suspension
BRAZO DE SUSPENSION

" 1209118

WISHBONE
salincak, st 6n

BOTH SIDES,FRONT
UPPER

Q 31106868530 pbluar noaBecku
X Barra oscilante, suspensién de ruedas
B Triangle de suspension
BMW 7 (G11, G12) 07/15-
1409122 WISHBONE FRONT,LH
salincak, on sol, alt

50707303 pbiyar PAIR:1409123
51857135 Barra oscilante, suspensién de ruedas

Triangle de suspension

FIAT PANDA (169) 08/03 -02/12
1409123
50707304
51857136

WISHBONE
salincak, 6n sag, alt
pbiyar

Barra oscilante, suspension de ruedas
Triangle de suspension

FRONT,RH

PAIR:1409122

FIAT PANDA (169) 08/03 -02/12
1509327 WISHBONE FRONT,LH
salincak, 6n sol, alt
2276514 pblyar PAIR:1509328
2374227 Barra oscilante, suspensién de ruedas
KK313A053AB Triangle de suspension
FORD TRANSIT V363 03/14-
1509328 WISHBONE FRONT,RH
salincak, 6n sag, alt
2374226 pblyar PAIR:1509327
2385106 Barra oscilante, suspension de ruedas
KK313A052AD Triangle de suspension
FORD TRANSIT V363 03/14-
. 1509330 WISHBONE FRONT,RH
i Salincak, 6n sag, iist Adjustable Suspension, Year only 2003/4
2L173084CA pblyar PAIR:1509331
Barra oscilante, suspensién de ruedas
Triangle de suspension
FORD EXPEDITION 2nd Generation 08/03-11/06 LINCOLN NAVIGATOR & UN173, U228 05/97-12/06
. 1509331 WISHBONE FRONT,LH
y salincak, 6n sol, tist Adjustable Suspension, Year only 2003/4
2L17Z3085AA S2 pblyar PAIR:1509330
Barra oscilante, suspensién de ruedas
Triangle de suspension
FORD EXPEDITION 2nd Generation 08/03-11/06 LINCOLN NAVIGATOR & UN173, U228 05/97-12/06
L FRONT,RH
P — 3009048 WISHBONE
salincak, 6n sag, alt
\ 31360651 pbluar PAIR:3009049
| 31658894 Barra oscilante, suspensién de ruedas
K- Triangle de suspension
VOLVO V90 11 (235,236) 10/17- VOLVO XC60 11 (246) 10/17-
VOLVO XC90 I1 (256) 06/15 -

2023-10 (BY PRODUCT GROUP)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

14 of 18



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

, ~ FRONT,LH
w4 3009049 WISHEONE
/ salincak, 6n sol, alt
/ 31360644 pblyar PAIR:3009048
31558893 Barra oscilante, suspension de ruedas
e Triangle de suspension
VOLVO V90 Il (235,236) 10/17- VOLVO XC60 Il (246) 10/17-
VOLVO XC90 11 (256) 06/15 -
3509048 WISHBONE REAR,LH
salincak, arka sol, Ust
20252XA01A pblyar PAIR:3509049

A

SUBARU TRIBECA

08/05-08/14

Barra oscilante, suspension de ruedas

Triangle de suspension

) ¢

3509049

20252XA00A

WISHBONE
salincak, arka sag, Ust
pbluar

Barra oscilante, suspensién de ruedas
Triangle de suspension

REAR,RH

PAIR:3509048

SUBARU TRIBECA 08/05-08/14
3609177 WISHBONE FRONT,RH
salincak, 6n sag, alt Usa Market, Ex, Ex-L, Lx, Touring Model
51350T7WA00 pblyar PAIR:3609178
Barra oscilante, suspensién de ruedas
Triangle de suspension
HONDA HR-V 2nd Gen 08/15-
3609178 WISHBONE FRONT,LH
salincak, 6n sol, alt Usa Market , Ex, Ex-L, Lx, Touring Model
51360-T7W-A00 pblyar PAIR:3609177

A

Barra oscilante, suspension de ruedas
Triangle de suspension

HONDA HR-V 2nd Gen 08/15-
3609179 WISHBONE FRONT,RH
salincak, 6n sag, alt Usa Market, Ex, Ex-L, Lx, Touring Model
51350T7WA00 S1 pblyar PAIR:3609180
Barra oscilante, suspensién de ruedas
Triangle de suspension
HONDA HR-V 2nd Gen 08/15-
3609180 WISHBONE FRONT,LH
salincak, 6n sol, alt Usa Market , Ex, Ex-L, Lx, Touring Model
51360T7WAO00 S1 pblyar PAIR:3609179
Barra oscilante, suspension de ruedas
Triangle de suspension
HONDA HR-V 2nd Gen 08/15-
3609183 WISHBONE FRONT,LH
salincak, on sol, alt
51360SAAJ01 pbiyar PAIR:3609020

Barra oscilante, suspension de ruedas
Triangle de suspension

Barra oscilante, suspensién de ruedas

HONDA CITY IV (GD/GE) 05/02 - 07/07 HONDA JAZZ I 01/02 - 07/08
HONDA JAZZ 111 07/08 -08/14
3809082 WISHBONE FRONT,RH
salincak, 6n sag, alt With Hydro Bush
KB7W 34 300 C pblyar PAIR:3809083
. o KB7W34300F

KB8W 34 300 C

Triangle de suspension

MAZDA CX-5 (KF) 11/16 -
3809083 WISHBONE FRONT,LH
salincak, 6n sol, alt With Hydro Bush
KB7W34350C pbiyar PAIR:3809082
= < KB7W34350F Barra oscilante, suspensién de ruedas
KB8W34350C Triangle de suspension
MAZDA CX-5 (KF) 11/16 -

2023-10 (BY PRODUCT GROUP)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

150f 18



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

3909068

MR589421

y

MITSUBISHI ENDEAVOR 1st Gen 08/04 - 08/11

WISHBONE
salincak, 6n sol, alt
pblyar

Barra oscilante, suspension de ruedas
Triangle de suspension

FRONT,LH

PAIR:3909069

; 3909069

MR589422 S1

\

WISHBONE
salincak, 6n sag, alt
pbiyar

Barra oscilante, suspension de ruedas
Triangle de suspension

FRONT,RH

PAIR:3909068

MITSUBISHI ENDEAVOR 1st Gen 08/04 - 08/11
4209290 WISHBONE FRONT,RH
salincak, 6n sag,alt
480680D081 pblyar PAIR:4209291
Barra oscilante, suspension de ruedas
Triangle de suspension
TOYOTA ETIOS 01/11-
4209291 WISHBONE FRONT,LH
salincak, 6n sol, alt
480690D081 pblyar PAIR:4209290
Barra oscilante, suspension de ruedas
Triangle de suspension
TOYOTA ETIOS 01/11-

A008.Steering bushes

A008.0On Aksam. Burclar (50-70-90)
A008.CaiiNNIeHT6N10KM DbIYaros

Silent bloc de suspension
BUJE BRAZO OSCILANTE O DE SUSPENSION

G.’ 1500229 TRACK CONTROL ARM BUSH BOTH SIDES,FRONT
N i salincak burcu, 6n sag-sol
2374226 S1 caineHT6noK FOR 1509327/8
237422751 Casquillo cojinete, brazo oscilante
KK313A052AD 51 Silent bloc de suspension
FORD TRANSIT (TTS) 11/19-
1500230 TRACK CONTROL ARM BUSH BOTH SIDES,FRONT
salincak burcu, 6n sag-sol, dis
4R3Z3078A caineHT6n0K FOR 1509311/2;1509155/6

CR373078D S2
CR3Z73079D S2

FORD MUSTANG (USA) 5th Gener 08/05 - 08/10

Casquillo cojinete, brazo oscilante
Silent bloc de suspension

FORD MUSTANG (USA)

08/10-08/15

1500231

CR373078D S3
CR373079D S3

TRACK CONTROL ARM BUSH
salincak burcu, 6n sag-sol, i¢
caiineHT610K

Casquillo cojinete, brazo oscilante
Silent bloc de suspension

BOTH SIDES,FRONT
40x14,2x59,6 mm

FOR 1509311/2;1509155/6

FORD MUSTANG (USA) 5th Gener 08/05 - 08/10 FORD MUSTANG (USA) 08/10-08/15
1500232 TRACK CONTROL ARM BUSH FRONT,LH
salincak burcu, 6n sol, alt hydro, PAIR:1500233
E1GC3A053AEB caineHTbN0K FOR 1509347
Casquillo cojinete, brazo oscilante
Silent bloc de suspension
FORD GALAXY 09/15- FORD S-MAX (CJ,WA6) 01/15-
1900224 TRACK CONTROL ARM BUSH BOTH SIDES,REAR
denge kol burcu, arka sag-sol, tst 45x12,2x50 mm
2473501700 S1 caneHT6NoK pblyara FOR 1909135
2473521500 Casquillo cojinete, brazo oscilante
A2473501700 31 Silent bloc de suspension
MERCEDES BENZ A SERIES (W177) 03/18- MERCEDES BENZ B SERIES (W247) 02/19-
MERCEDES BENZ ~ CLA 118 05/19- MERCEDES BENZ ~ GLA SERIES (H247) 01/20-
MERCEDES BENZ GLB SERIES (X247) 01/19-

2023-10 (BY PRODUCT GROUP)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

16 of 18



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

> 1900225 TRACK CONTROL ARM BUSH BOTH SIDES,FRONT

rotilli kol burcu, 6n sag-sol, alt

2183302200 S1 caineHT6noK FOR 1905166
Casquillo cojinete, brazo oscilante

i Silent bloc de suspension
MERCEDES BENZ CLS (C 218) 01/11 -

3500019 TRACK CONTROL ARM BUSH REAR
burg, arka 34,2x12,3x41,8 mm

20250-AJ040 caineHT6N0K

20250-FG040
20250-FG041

Casquillo cojinete, brazo oscilante
Silent bloc de suspension

SUBARU FORESTER (SG) 09/02 -12/07 SUBARU FORESTER (SH) 01/08 -08/13
SUBARU FORESTER (SK) 04/18- SUBARU IMPREZA (GE,GH,GR,GV) 01/08 -11/11
SUBARU IMPREZA Hatchback (GP) 10/11- SUBARU LEGACY Ill (BE,BH,BT) 12/98 - 08/03
SUBARU LEGACY IV (BL,BP) 09/03 -08/08 SUBARU LEGACY V 09/09 -08/14
SUBARU LEVORG 09/15- SUBARU XV 03/12-
3500020 TRACK CONTROL ARM BUSH BOTH SIDES,REAR
salincak burcu, arka sag-sol 34,3x12,4x29,8 mm
20252XA00A S2 cailneHTbnoK FOR 3509048/9;3509070/1;3509076/7
20252XA01A S2

Casquillo cojinete, brazo oscilante
Silent bloc de suspension

SUBARU TRIBECA 08/05-08/14 SUBARU XV 03/12-
SUBARU FORESTER (SJ) 08/14-
350002 1 TRACK CONTROL ARM BUSH BOTH SIDES,REAR
salincak burcu, arka sag-sol 34,4x12,3x50 mm
20252XA00A S1 caitneHT6n0K FOR 3509048/9;3509070/1;3509076/7
20252XA01A S1 Casquillo cojinete, brazo oscilante
202525G011 51 Silent bloc de suspension
SUBARU TRIBECA 08/05-08/14 SUBARU XV 03/12-
SUBARU FORESTER (SJ) 08/14-
3800059 TRACK CONTROL ARM BUSH FRONT,LH
salincak burcu, 6n sol, alt
KB7W34350C S1 caineHTbnoK FOR 3809082; PAIR:3800060
KB7W34350G Casquillo cojinete, brazo oscilante
KB8W34350C 51 Silent bloc de suspension
MAZDA CX-5 (KF) 11/16 -
3800060 TRACK CONTROL ARM BUSH FRONT,RH
salincak burcu, 6n sag, alt
KB7W34350C S2 caiineHT610K FOR 3809083; PAIR:3800059
KB7W34350G S1 Casquillo cojinete, brazo oscilante
KB8W34350C 52 Silent bloc de suspension
MAZDA CX-5 (KF) 11/16 -
3800061 TRACK CONTROL ARM BUSH BOTH SIDES,FRONT
salincak burcu, 6n sag-sol,arka 80,2x28,9x79,8 mm
EG21-34-300D S4 caineHTbnoK FOR 3809018/9;3809033/4
EH44-34-300C 54 Casquillo cojinete, brazo oscilante
EH44-34-350 51 Silent bloc de suspension
MAZDA CX-7 (ER) 11/06 -08/14 MAZDA CX-9 (TB) 08/07-08/16

MITSUBISHI

ENDEAVOR 1st Gen

3900042

MR589421 S2
MR589422 S3

08/04 - 08/11

TRACK CONTROL ARM BUSH
salincak burcu, 6n sag-sol
caineHT6N0K

Casquillo cojinete, brazo oscilante
Silent bloc de suspension

BOTH SIDES,FRONT

FOR 3909068/9

LEXUS IS (SportCross)

2023-10 (BY PRODUCT GROUP)

4200128

4865530130
4866053010 S1
486705301051

10/01 - 10/05

TRACK CONTROL ARM BUSH
rotilli kol burcu, 6n sag-sol, alt
caineHT6noK

Casquillo cojinete, brazo oscilante
Silent bloc de suspension

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

BOTH SIDES,FRONT

FOR 4205028/9

17 0f 18



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

TOYOTA RAV 411 (XA20)

4200130

48725-42080

09/01 - 02/06

TRACK CONTROL ARM BUSH
salincak burcu, arka
calineHT610K

Casquillo cojinete, brazo oscilante
Silent bloc de suspension

REAR
68x17,5x55,6 mm

BUICK LA CROSSE
CHEVROLET IMPALA (USA)

5600103

13219145
13219146
13219149

08/10-08/16
08/14-12/19

TRACK CONTROL ARM BUSH
denge kol burcu, arka sag-sol
calineHT610K

Casquillo cojinete, brazo oscilante
Silent bloc de suspension

BUICK REGAL
CHEVROLET

MALIBU 8th Generation

BOTH SIDES,REAR
70x114 mm

FOR 5609156/7

08/11-08/16
08/13-08/16

FLYER-2023-10

2023-10 (BY PRODUCT GROUP)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

18 0f 18



